Division par 10 (H)

Trouvez chaque quotient.

30+-10= 2=-10 =
62 +10= 25 +10=
36 -10= 63 +10=
50 =~ 10 = 69 - 10 =
16 -10 = 53+10=
8+10= 5+10=
76 - 10 = 61 +10=
94 +- 10 = 84 - 10 =
23 +10 = 1=10=
21 +10= 26 -10 =
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Division par 10 (H) Solutions

30+-10=3

62 +10=26,2

36 +-10=23,6

59+10=59

16 +10=1,6

8+10=0,8

76 -10=17,6

94 +-10=94

23+10=2,3

21+-10=2,1

Trouvez chaque quotient.

2+10=0,2

25+10=25

63 +10=16,3

69 +~10=16,9

53+10=5,3

5+10=0,5

61+10=06,1

84+10=84

1+-10=0,1

26 +-10=2,6
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